
Si!l.:t I alifl 

� 1. � n-WfiR' t- F�@i:f>T-1 � Ri=t@f&a if� �-m � � t? 
(a) � cst9.tj@.lq; � f 31R fsitjqi� � �� f I
(b) � 3t(?(l,(,f@fq, � f • q:qtjqi"" � �� t,
(c) fcfcR (t?@) 3t(?qtj@4q, � f om q:qtjqi� � ��-t,

(d) fcfcR (t?@) C!l9.tj@.lq, � f � f�tj41"" � �� t,
errt 

(c) n-� 31cif=qfo1q; 'l Ge "lfT Si � � 1l tj=qtf�lvft cRq <Cr � �
vffilT i, n-� 31cif=q1clq; � � t4§ti�q; elm f<ITT 3tci4ti�q; ma t1

� 2. � 1 if�� "cfiiRl if� �-m P-� t- �� t-� � t?

ffl p-��Ge"llTSi1l����lRlfTOJ��tl 
�� � 11 � '1!ci4ti�q; tfm oo Et§'<i&lcf> wa t1 
� 3. cfilGR, mfc.tcfii-1 31R '1iqPl�q, � if � � � f1 � 
fcml@r � � � IDU � tj4t'1icfidl • � � IDU cft � f, "\lj) �: 
(E8)c , (E8)si � (E8)ae t" ciffliiR f, Ri=t@Asia if� �-m � � f?

(a) (Eg)Si < (Eg)Ge < (Eg)c (b) (Eg)c < (Eg)Ge > (Eg)si

(c) (Eg)c > (Eg)Si > (Eg)Ge (d) (Eg)c = (Eg)Si = (Eg)GI! 

� (c)cffl"iA"ij,���1)-q�mrsi����t1 
� 4. faRr cil'Pffl p-n � �, � p-� if n-� ctft aTR fcmfur iffl' f, � 

(a) n-�if�����fl
(b) � �'qqj..ij( i$ cliRUT � t- 'tlR' Tf@"cfi<a fl
(c) p-�if �-�, n-�if ��� �ti
(d)��

�·� 

14 

�;Je1crtas $M�IPtcR1-qa1d, 
':lfa:tttti am ti(crt qRqa 
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� (c) � � p-n � it 3TIW � cl>T � � � � � 
� c6l 31R � t1 arn: p � it cf>TC\T c6l � n lff?f c6l 3NIITT 3ffi t1 
JN.:J5. �p-n�'tl\am���fcf;ln�t,�� 

(a)fcrqq��il
(b) cq�{gqcfi � %:lmr.fil���t1
(c)fcrqq�q;)���il
(d) � -q � q;)f�� I

� (c) � p-n � it 3Tir � � � � t, 3lmftra fct� fl it 
fct11q � "ij) fcttRIB � t arn: fct11q � (fl it) &frur m vl@T t1 

JN.:J 6. �cnl�lg f.li.t@f&d 'q�"q;R-��mftt 
(a) an'eJR, � � � 8)-511 cnl 3lJqJtf �am�� "@IA m;it

�I
(b) an'eJR������m;rr�1
(c) ��am�"t�����t1
(d)�����$nlftam�t1

ffl (b), (c)

i.e.,

�� �=le
Is

la = le. 
� 
V R =-
la 

=�-� 
le 

R oc _!_ 
le 

3ffi: Rin � � <1tif>iilj4i81 � t \3'i;q � � � Rin arc;q � � � 
amTRlff?f�&fJUJ�t��3Tir������t1 
JN.:J 7. fcfim����qlffilT� 

(a) ri ���"@IR�il
(b) �o1RFP=t.�'tl\�mcftt���-qftm-ij��t1
(c) � 31RFP=t �11\�mcftt 31R� �11\ ��ii
(d) �-ij�cliW-;nff1

lrtif 

(c) � m11 � oim f;tl:;J � w cpff t oim -qE1J � w � m11
��ti
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� 8. 3lt(R1l �blcfi(Uj 'q, �Ffcffi � 50 Hz 'tmf;r@ ��t?
m Riffl � � � <R1I R1SGcfi1tl qft f;r,fo � � t?

� 3f.it���AC"ij;�cffi�qRcTTt���
� "ij; 3m) "'qw ll qffi � qRffi t, � � � � � "'qw q;)
��ti��� ct) f;r1@ � = 50 Hz��� ct)
� 3l'Tcffer =2 x 50= 100Hz

�9. CE-��lg2kn'*��*ft:m"t{{t;qf.r�2V 
t, -qf.{���cfiT qm�� 100 t, � �� 1 kn tm 
Ffiffl � (signal) � � � '-1m q[<qi(t;\t, �I
ettif � t, � � (R001 ) = 2 kn = 2000 !l 

��1jUJTq,{13 )=100 
� �(\1aut )=2V 

311UR �(Rin)= 1 kn= 1000!1 

� t'flll (Av)= Vou1 =� Rout 
½'n Rin 

���Nn)= Vau1
� (Root /Rin} 

2 

100(2000/1000) 

= 0.01 V 

311UR �(/a)= ½'n
Rin 

= 0·01 = 10 x 10-6 A= 10 µ 
1000 

�10.�*���m-<11f.@-ij�����i,� 
� qft � � 10 � � qft � � 20 ti � Fmr � 

• 0.01 �tmf;r,fo��cfiT��I
� � t, JI� Jfqtfcf> cJ>T � 'ffill (A½)= 10

� Jfq$p cJ>T � 'ffi�, (Av2)=20 
� � {V;}=0.01 V 

� 'ffi� {Av)= \{, = Av. x Av. V; 1 2 

Va = 10 x20
0.01 

\{, =2V 
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Ques 6




